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$�آ� ��آ� ا ��4%�	. �Mدرا pAJأG��
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�xi ا(2
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    y%ر�(
 t(s)   0 0,1 0,2  0,3 0,4ا

�ل !Nاx(m)  0  0,08 0,16 0,24 0,32  
 y(m)  0 0,05 0,20 0,45 0,80اNر.�ب 

  
1-  7�S��4�
2�y = f(t2)�M و �x = f(t)\+ ا� ��M ر��(g�) . 
2-  7�(�2��
�د
)�7 ا��
� ?���4 ا
$�آ� �J- آ+ �$�ر؟.y = g(t) و x = f(t)اx(2(M ا� 
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 % P)� .ذا +��� Q(�(آ m =780 g Q()e� و ��
(� ��s Q.��
 �)�S ف�A) k = 26 N.m-1) p4\� �gا� Q!�? ، +��$
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 �Y G8 !  ا
���� G6 ا
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��� ا�)   :1 cm +\�. 0,1 m.s-1. 
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�%��� ��R �� (S) Q(�(آ m = 80 kg �%او�
�) +i�
�Pr ا(�� �AM -�J α = 12°)  �!N� و � �4�2
� . �AMا�)

 +4�. �()�Y 4^ 8�ةA
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F �$�
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